Exam 2: Parabolas




Name:________________________

All work must be shown for credit. Good luck!

1. Given the parabola 
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, determine the coordinates of the focal point. (Hint: first find the focal length, then roughly sketch the graph)

2. 
(a) Sketch the graph of a parabola 
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(b) Sketch the graph of a parabola 
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3. Given the parabola 
[image: image10.wmf](

)

1

3

5

.

0

2

-

-

-

=

x

y

:


(a) Identify the vertex.


(b) Is the vertex a minimum or a maximum? Explain.

4. Find the equation of the parabola with vertex 
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5. Explain how the graph 
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is different from the graph of 
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6. Put the parabola 
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 in vertex form (using any method).

7.  Solve the quadratic equation 
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8. How many real roots does the parabola 
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 have. Explain. 


(a) How many real roots does 
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(b) Find the roots of 
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9. Given the parabola 
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(a) Find the y-intercepts.

(b) Find the x-intercepts.

10. Construct a parabola with x-intercepts 
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11. Simplify the complex numbers:

(a) 
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(b) 
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12. The farmer has 20 linear meters of fencing in which to build a rectangular pig pen. What are the dimensions of the pen with maximum area? 
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